3'orm

do
o
S

dz d
A d ECF

=
o
N

10

Ratio to ATLAS

0.5

13000 GeV pp Jets
L L L L L L L L L L L L e %
- | 15
| ECF3 (ATLAS jet substructure) |3
= 33
=~ m  ATLAS [
[~ --0O-- Herwig++ 2.6.0 default N

--3-- Herwig 7.2.1 default =
=\ —— Pythia 8.308 default =ps
— \ - ¥-- Pythia 8.308 vincia-default 18
—  \ ¢ Sherpa 2.2.9 default — '02:
— mie)

o™
— — q.
— =M
— o
| —H O
- 4™
—
B 1=
_— =
= 5.5,
— <
(&)
B e
B o
Q
= =N
— 40
- — O
| )
_l —1 | | | | | | | | | | | | | | | | | | [ |_ E
:l T T T T | T T T T | T T T T | T T T T |:
} ...................... e t E 2
- e 4o . : ]
- e e R B
- T B------ooes i ]
e 8- . — = S
B T Y 7
__________ - _ i 1
- T~ \\* —
L —0.5
| " 1 1 1 1 " | " 1 1 1 1 | " 1 1 1 1 " | " " 1 " 1 " 1 " |
0 0.01 0.02 0.03 0.04

ECF3'orm



	Contents
	Page 1


